Model Prediction (P3)
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P3: ['LfA", 'peakTgtLAI']
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P3 (plot by DAT)
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Days After Budding

P3 TsN1 (plot by DAT)
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P3 TsN2 (plot by DAT)
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P3 TsN3 (plot by DAT)
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P3 TsN4 (plot by DAT)
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P3 TsN5 (plot by DAT)
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P3 TsN6 (plot by DAT)
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P3 (plot by adjDAT)

S
o
]
“
“ 1
|
o "% |
] 1o
e
-1 | - 9
¢ Th ®
1 Ly
q...-* : “
] |
2P L
o T 2 1
! -m“ R e 2
- %
Y « |
| O
o % ©
hE ? i
I _“ e I I
1 %
1 ““ #rllo 1
L e [ P
! |0. 1 _ s
| .
| P
| Ton B
R S
i Lol =
....... m.-----------------u....onnw_l----ll--
| I "
Iﬂ* ml%“ IIIIIII °
& 3|,
%y
I <
1 < o
__el < _____ PY N
I
I
:
I
e .
|
| o
1 £
m S
IIIIIIII @
- o
o o o o o o o o
N~ [(e] Te] < m N —

Buippng a1y sAeqg

Days After Transplant



P3 TsN1 (plot by adjDAT)
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Days After Budding

P3 TsN2 (plot by adjDAT)
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P3 TsN3 (plot by adjDAT)
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P3 TsN4 (plot by adjDAT)
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P3 TsN5 (plot by adjDAT)
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P3 TsN6 (plot by adjDAT)
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Plot Env Data
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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